

Global asymptotic behavior and boundedness of positive solutions to an odd-order rational difference equation[☆]

Maixin Liao^{a,b,*}, Xianyi Li^c, Xianhua Tang^a

^a School of Mathematical Sciences and Computing Technology, Central South University, Changsha, Hunan 410083, PR China

^b School of Mathematics and Physics, University of South China, Hengyang, Hunan 421001, PR China

^c School of Mathematics and Computational Science, Shenzhen University, Shenzhen, Guangdong 518060, PR China

Received 27 February 2007; received in revised form 25 November 2007; accepted 4 December 2007

Abstract

In this note we consider the following high-order rational difference equation

$$x_n = 1 + \frac{\prod_{i=1}^k (1 - x_{n-i})}{\sum_{i=1}^k x_{n-i}}, \quad n = 0, 1, \dots,$$

where $k \geq 3$ is odd number, $x_{-k}, x_{-k+1}, x_{-k+2}, \dots, x_{-1}$ is positive numbers. We obtain the boundedness of positive solutions for the above equation, and with the perturbation of initial values, we mainly use the transformation method to prove that the positive equilibrium point of this equation is globally asymptotically stable.

© 2008 Elsevier Ltd. All rights reserved.

Keywords: Odd-order rational difference equation; Positive equilibrium point; Global asymptotic stability; Boundedness; Transformation method

1. Introduction

Recently, there has been an increasing interest in the study of the global asymptotic properties of rational difference equations. However, there have not been any effective general methods to deal with the global behavior of rational difference equations of order greater than one so far. As we know, it is extremely difficult to understand thoroughly the global behaviors of solutions of rational difference equations although they have simple forms (or expressions). One can refer to [1–9] for examples to illustrate this. Therefore, the study of rational difference equations of order greater than one is worth further consideration.

[☆] Supported partly by NNSF of China (Grant: 10771094) and Project of Hunan Provincial Education Department (Grant: 07C639).

* Corresponding author at: School of Mathematical Sciences and Computing Technology, Central South University, Changsha, Hunan 410083, PR China.

E-mail addresses: maoxinliao@163.com, mxliao@163.com (M. Liao).

The authors [6] proved that the positive equilibrium point of the difference equation

$$x_{n+1} = \frac{x_n x_{n-1} + 1}{x_n + x_{n-1}}, \quad n = 0, 1, 2, \dots \tag{LZ1}$$

with positive initial values x_{-1}, x_0 is globally asymptotically stable.

In fact, Eq. (LZ1) may be rewritten into

$$x_{n+1} = 1 + \frac{(1 - x_n)(1 - x_{n-1})}{x_n + x_{n-1}}, \quad n = 0, 1, \dots \tag{LZ2}$$

Motivated by this kind of form of the above Eq. (LZ2), the first author of this paper studied global asymptotic stability for positive solutions to the equation

$$x_{n+1} = 1 + \frac{(1 - x_n)(1 - x_{n-1})(1 - x_{n-2})}{x_n + x_{n-1} + x_{n-2}}, \quad n = 0, 1, 2, \dots, \tag{L}$$

where the initial conditions x_{-2}, x_{-1}, x_0 are positive numbers and at least two of them are not larger than one.

In this paper, we consider the following high-order rational difference equation

$$x_n = 1 + \frac{\prod_{i=1}^k (1 - x_{n-i})}{\sum_{i=1}^k x_{n-i}}, \quad n = 0, 1, \dots, \tag{1}$$

where $k \geq 3$ is odd number, and the initial values $x_{-k}, x_{-k+1}, x_{-k+2}, \dots, x_{-1} \in [\alpha, \beta]$, with $0 < \alpha < 1$ and $\beta > 1$.

It is clear that the equilibrium \bar{x} of Eq. (1) satisfies

$$\bar{x} = \frac{(1 - \bar{x})^k + k\bar{x}}{k\bar{x}},$$

from which we can get that Eq. (1) has a unique positive equilibrium $\bar{x} = 1$.

Eq. (1) is interesting in its own right. To the best of our knowledge, however, Eq. (1) has not been investigated so far. Therefore, to study its qualitative properties is theoretically meaningful.

It is worthwhile to note that the global asymptotic stability for Eqs. (LZ2) and (L) is proved in [6] via the analysis of semi-cycle structure (similar methods are also used in [8,9]). Such analysis while computationally feasible for small k , can be very involved for larger values. One can see that it is difficult to depict semi-cycle structure for larger k in Eq. (1). It is fortunate that, in this note, the transformation method used does not require prior determination of detailed semi-cycle structure.

The paper proceeds as follows. In Section 2, we obtain the boundedness of positive solutions for Eq. (1), while by introducing some preliminary lemmas and notation, in Section 3, we get a proof of global asymptotic stability for the solutions of Eq. (1) with the perturbation of initial values.

The results obtained in this paper partly generalize the corresponding ones given in paper [6].

2. Boundedness of positive solutions to Eq. (1)

Theorem 2.1. *Suppose that there exist $\alpha \in (0, 1)$ and $\beta \in (1, +\infty)$, such that*

$$\frac{(1 - \alpha)^p (1 - \beta)^q}{p\alpha + q\beta} \leq \beta - 1, \quad p + q = k, q = 0, 2, 4, \dots, k - 1 \tag{2}$$

and

$$\frac{(1 - \alpha)^p (1 - \beta)^q}{p\alpha + q\beta} \geq \alpha - 1, \quad p + q = k, q = 1, 3, 5, \dots, k, \tag{3}$$

then the solution $\{x_n\}$ of Eq. (1) satisfies $x_n \in [\alpha, \beta]$, for $n = 0, 1, 2, \dots$

Proof. In Eq. (1), by setting

$$f(\mathcal{Y}_1, \mathcal{Y}_2, \dots, \mathcal{Y}_k) = \frac{\prod_{i=1}^k (1 - \mathcal{Y}_i)}{\sum_{i=1}^k \mathcal{Y}_i},$$

where $\mathcal{Y}_i \in [\alpha, \beta], i = 1, 2, \dots, k$, and by deducing, we easily get that the function $f(\mathcal{Y}_1, \mathcal{Y}_2, \dots, \mathcal{Y}_k)$ is monotone in $\mathcal{Y}_i (i = 1, 2, \dots, k)$, respectively.

In fact, might as well supposes,

(i) if $\mathcal{Y}_1, \mathcal{Y}_2, \dots, \mathcal{Y}_p \leq 1, \mathcal{Y}_{p+1}, \mathcal{Y}_{p+2}, \dots, \mathcal{Y}_{p+q} > 1, q$ is even number, then we easily prove that f is decreasing in $\mathcal{Y}_1, \mathcal{Y}_2, \dots, \mathcal{Y}_p$, and increasing in $\mathcal{Y}_{p+1}, \mathcal{Y}_{p+2}, \dots, \mathcal{Y}_{p+q}$;

(ii) if $\mathcal{Y}_1, \mathcal{Y}_2, \dots, \mathcal{Y}_p \leq 1, \mathcal{Y}_{p+1}, \mathcal{Y}_{p+2}, \dots, \mathcal{Y}_{p+q} > 1, q$ is odd number, then we easily prove that f is increasing in $\mathcal{Y}_1, \mathcal{Y}_2, \dots, \mathcal{Y}_p$, and decreasing in $\mathcal{Y}_{p+1}, \mathcal{Y}_{p+2}, \dots, \mathcal{Y}_{p+q}$.

Therefore, we may get the extremum of $f(\mathcal{Y}_1, \mathcal{Y}_2, \dots, \mathcal{Y}_k)$, that is,

$$0 \leq f(\mathcal{Y}_1, \mathcal{Y}_2, \dots, \mathcal{Y}_k) \leq \frac{(1 - \alpha)^p (1 - \beta)^q}{p\alpha + q\beta}, \quad \mathcal{Y}_i \in [\alpha, \beta], i = 1, 2, \dots, k,$$

here $p + q = k, q = 0, 2, 4, \dots, k - 1$; and

$$\frac{(1 - \alpha)^p (1 - \beta)^q}{p\alpha + q\beta} \leq f(\mathcal{Y}_1, \mathcal{Y}_2, \dots, \mathcal{Y}_k) \leq 0, \quad \mathcal{Y}_i \in [\alpha, \beta], i = 1, 2, \dots, k,$$

here $p + q = k, q = 1, 3, 5, \dots, k$.

According to (2) and (3), we may get

$$\alpha - 1 \leq f(\mathcal{Y}_1, \mathcal{Y}_2, \dots, \mathcal{Y}_k) \leq \beta - 1, \quad \mathcal{Y}_i \in [\alpha, \beta], i = 1, 2, \dots, k,$$

which implies that the solution $\{x_n\}$ of Eq. (1) satisfies $x_n - 1 \in [\alpha - 1, \beta - 1]$, for $n = 0, 1, 2, \dots$. The proof of theorem follows. \square

3. The global asymptotic behavior of solutions to Eq. (1)

In order to prove the result in this section, we introduce some preliminary lemmas and notation. First, we consider the simple transformed sequence $\{x_n^*\}$ defined by

$$x_n^* = \begin{cases} e^{x_n - 1}, & 1 \leq x_n < 2 \\ e^{1 - x_n}, & 0 < x_n < 1. \end{cases} \tag{4}$$

The following elementary lemmas will be useful.

Lemma 3.1. Suppose that $\{x_n\}$ satisfies (1), that $\{x_n^*\}$ is obtained from $\{x_n\}$ via (4), and that $1 \leq x_{n-i} < 2, i = 1, 2, \dots, p, 0 < x_{n-p-j} < 1, j = 1, 2, \dots, q, p + q = k$, then,

$$\ln x_n^* = \frac{\prod_{i=1}^p \ln x_{n-i}^* \cdot \prod_{j=1}^q \ln x_{n-p-j}^*}{k + \sum_{i=1}^p \ln x_{n-i}^* - \sum_{j=1}^q \ln x_{n-p-j}^*}. \tag{5}$$

Proof. From (4), we know that, if $1 \leq x_n < 2$, then $x_n - 1 = \ln x_n^*$; while if $0 < x_n < 1$, then $x_n - 1 = -\ln x_n^*$.

(i) if q is even number, then p is odd number, and we have

$$-\ln x_n^* = \frac{(-1)^p \prod_{i=1}^p \ln x_{n-i}^* \cdot \prod_{j=1}^q \ln x_{n-p-j}^*}{k + \sum_{i=1}^p \ln x_{n-i}^* - \sum_{j=1}^q \ln x_{n-p-j}^*}; \tag{6}$$

(ii) if q is odd number, then p is even number, and we get

$$\ln x_n^* = \frac{(-1)^p \prod_{i=1}^p \ln x_{n-i}^* \cdot \prod_{j=1}^q \ln x_{n-p-j}^*}{k + \sum_{i=1}^p \ln x_{n-i}^* - \sum_{j=1}^q \ln x_{n-p-j}^*}. \tag{7}$$

Obviously, from (6) and (7), (5) follows. \square

Lemma 3.2. *Suppose that f is defined by*

$$f(y_1, \dots, y_p; y_{p+1}, \dots, y_{p+q}) = \frac{y_1 \cdots y_p \cdot y_{p+1} \cdots y_{p+q}}{k + y_1 + \cdots + y_p - y_{p+1} - \cdots - y_{p+q}}, \tag{8}$$

and $y_1, \dots, y_p, y_{p+1}, \dots, y_{p+q} \in [0, 1)$, then, f is increasing in $y_1, \dots, y_p; y_{p+1}, \dots, y_{p+q}$, respectively. Here, $p + q = k$, k is odd number.

Proof.

$$\frac{\partial f}{\partial y_m} = \frac{E \cdot F}{(k + y_1 + \cdots + y_p - y_{p+1} - \cdots - y_{p+q})^2}, \quad m = 1, 2, \dots, p,$$

here

$$E = y_1 \cdots y_{m-1} \cdot y_{m+1} \cdots y_p \cdot y_{p+1} \cdots y_{p+q} \geq 0,$$

$$F = k + y_1 + \cdots + y_{m-1} + \cdots + y_{m+1} + \cdots + y_p - y_{p+1} - \cdots - y_{p+q} \geq 0.$$

Similarly,

$$\frac{\partial f}{\partial y_m} = \frac{G \cdot H}{(k + y_1 + \cdots + y_i - y_{i+1} - \cdots - y_{i+j})^2}, \quad m = p + 1, p + 2, \dots, p + q,$$

here

$$G = y_1 \cdots y_p \cdot y_{p+1} \cdots y_{m-1} \cdot y_{m+1} \cdots y_{p+q} \geq 0,$$

$$H = k + y_1 + \cdots + y_p - y_{p+1} - \cdots - y_{m-1} - \cdots - y_{m+1} - \cdots - y_{p+q} \geq 0.$$

From the above analysis, the Lemma 3.2 follows. \square

By Lemmas 3.1 and 3.2, we have

Lemma 3.3. *Suppose that $p \geq 1$ in Lemma 3.1, then we have*

$$\max_{1 \leq i \leq k} \{\ln x_{n-i}^*\} \geq \ln x_n^* \geq 0, \tag{9}$$

for all $n \geq k$, where k is odd number.

Proof. By the definition of (4), we easily know that in (5), $1 \leq x_n^* < e$ for all n . Setting $M = \max_{1 \leq i \leq k} \{\ln x_{n-i}^*\}$, and applying Lemma 3.2 k times, we obtain

$$\ln x_n^* \leq \frac{M^k}{k + (p - q)M}.$$

Note that $1 \leq x_n^* < e$ for all n , $M = \max_{1 \leq i \leq k} \{\ln x_{n-i}^*\} \in [0, 1)$, then we obtain

$$M^k \leq kM + (1 - k)M^2 \leq kM + (p - q)M^2.$$

Therefore,

$$\ln x_n^* \leq \frac{M^k}{k + (p - q)M} \leq M. \tag{10}$$

Also the proof of the Lemma 3.3 is completed. \square

Now, set

$$D_n = \max_{n-k \leq i \leq n-1} \{\ln x_i^*\}, \quad n = 0, 1, 2, \dots \tag{11}$$

By (11) and (9), we have

$$\begin{aligned} D_{n+1} &= \max_{n+1-k \leq i \leq n} \{\ln x_i^*\} = \max\{ \max_{n+1-k \leq i \leq n-1} \{\ln x_i^*\}, \ln x_n^* \} \\ &\leq \max\{ \max_{n+1-k \leq i \leq n-1} \{\ln x_i^*\}, \max_{1 \leq i \leq k} \{\ln x_{n-i}^*\} \} \\ &= \max\{ \max_{n+1-k \leq i \leq n-1} \{\ln x_i^*\}, \max_{n-k \leq i \leq n-1} \{\ln x_i^*\} \} = \max_{n-k \leq i \leq n-1} \{\ln x_i^*\} = D_n. \end{aligned}$$

Therefore, we easily get the following lemma.

Lemma 3.4. *The sequence D_n is monotonically non-increasing in n for $n \geq k$.*

Since $D_n \geq 0$ for $n \geq k$, Lemma 3.4 implies that, as n tends to infinity, the sequence D_n converges to some limit, say D , where $D \geq 0$.

Theorem 3.1. *If (2) and (3) hold, and $1 < \beta < 2$, then the positive equilibrium point $\bar{x} = 1$ of Eq. (1) is globally asymptotically stable.*

Proof. The linearized equation of Eq. (1) about the positive equilibrium point \bar{x} is

$$z_n = 0 \cdot z_{n-1} + 0 \cdot z_{n-2} + \dots + 0 \cdot z_{n-k},$$

and so it is clear from [7, Remarks 1.3.7] that the positive equilibrium point \bar{x} of Eq. (1) is locally asymptotically stable. It remains to verify that every positive solution $\{x_n\}_{n=-k}^\infty$ of Eq. (1) converges to \bar{x} as $n \rightarrow \infty$. Namely, we want to prove

$$\lim_{n \rightarrow \infty} x_n = \bar{x} = 1. \tag{12}$$

Might as well suppose that in Eq. (1), $1 \leq x_{n-i} < 2, i = 1, 2, \dots, p, 0 < x_{n-p-j} < 1, j = 1, 2, \dots, q, p + q = k$, for $n = 0, 1, 2, \dots$. Especially, $p = 0$ means that $x_{n-j} < 1, j = 1, 2, \dots, k$.

First, if $p = 0$, the rules for the positive and negative semi-cycles of the solution to Eq. (1) can be periodically expressed as follows: $\dots, (k + 1)^-, 1^+, (k + 1)^-, 1^+, (k + 1)^-, 1^+, \dots$. Then we can easily prove (12) by the semi-cycle methods (see References [6,8,9]).

Next, if $p \geq 1$, it is difficult to depict semi-cycle structure of the solution to Eq. (1), so we will show that the transformed sequence $\{x_n^*\}$ converges to 1, which also indicates (12) to be true.

By the definition (11), the values of D_n are taken on by entries in the sequence $\{\ln x_n^*\}$, and as well, by Lemma 3.3, $\ln x_n^* \in [0, D_n]$ for $n \geq k$. It suffices to prove that $D = 0$. Suppose that $D > 0$, then for any $\epsilon \in (0, D)$, we can find an N such that $\ln x_N^* \in [D, D + \epsilon]$, and for $n \geq N - k$,

$$\ln x_n^* \in [0, D + \epsilon].$$

Since $x_n^* \geq 1$ for all n , employing Lemmas 3.1 and 3.2 gives

$$D \leq \ln x_N^* \leq \frac{(D + \epsilon)^k}{k + (p - q)(D + \epsilon)},$$

namely,

$$D[k + (p - q)(D + \epsilon)] \leq (D + \epsilon)^k$$

or

$$kD + (p - q)D^2 \leq D^k + C_k^1 D^{k-1} \epsilon + C_k^2 D^{k-2} \epsilon^2 + \dots + C_k^k \epsilon^k + (q - p)D\epsilon,$$

which implies that $D = 0$ by $k \geq 3$ and arbitrary $\epsilon > 0$. The proof of this theorem is complete. \square

For the further study, we leave the following problem to the interested readers:

Conjecture. *If (2) and (3) hold, and $\beta \geq 2$, then the positive equilibrium point $\bar{x} = 1$ of Eq. (1) is globally asymptotically stable.*

References

- [1] R.P. Agarwal, *Difference Equations and Inequalities*, 1st edition, Marcel Dekker, New York, 1992, 2nd edition, 2000.
- [2] A.M. Amleh, E.A. Grove, D.A. Georgiou, G. Ladas, On the recursive sequence $x_{n+1} = \alpha + x_{n-1}/x_n$, *J. Math. Anal. Appl.* 233 (1999) 790–798.
- [3] K.S. Berenhaut, J.D. Foley, S. Stević, The global attractivity of the rational difference equation $y_n = 1 + y_{n-k}/y_{n-m}$, *Proc. Amer. Math. Soc.* (2006).
- [4] S. Stević, On the recursive sequence $x_{n+1} = g(x_n, x_{n-1})/(A + x_n)$, *Appl. Math. Lett.* 15 (2002) 305–308.
- [5] S. Stević, On the recursive sequence $x_{n+1} = x_{n-1}/g(x_n)$, *Taiwanese J. Math.* 6 (3) (2002) 405–414.
- [6] Xianyi Li, Deming Zhu, Global asymptotic stability in a rational equation, *J. Difference Equ. Appl.* 9 (9) (2003) 833–839.
- [7] V.L. Koci, G. Ladas, *Global Behavior of Nonlinear Difference Equations of High Order with Applications*, Kluwer Academic Publishers, Dordrecht, 1993.
- [8] Xianyi Li, Deming Zhu, Global asymptotic stability of a nonlinear recursive sequence, *Appl. Math. Lett.* 17 (2004) 833–838.
- [9] Xianyi Li, Global behaviour for a fourth-order rational difference equation, *J. Math. Anal. Appl.* 312 (2005) 555–563.